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(1) 204k lZa =cos O +isin ODEEFi>Z Lo, Tz TREARITRAT S L
FeET77VOEBRIVITO XS ICEHT 5,

(cos O +isin B)* + (cos O +isin 6)% +a = cos 46 +isin 46 + cos 260 +isin 20 +a
= (cos 40 + cos 20) + i(sin 460 + sin 20) + a

=0
Ko TEIMLIEHZILKT L Li1c kY,
cos40 +cos20+a=0 ------ @
sin40 +sin20=0  ------ @

LEXD., sin40 +sin20 = 028 m &Nz, (20 4)
(2) (1) X Ysin 460 + sin 20 = 072 D T,

sin46 + sin 260 = 2 sin 26 cos 20 + sin 26
= sin20(2 cos 20 + 1)
=0

ZZT0P<OB<90° 250" <20<180°CH L5720, sin20 >0TH 3, L7=DB->T

2cos20+1 =0

1
cos 20 = ——
2

20 = 120°

.0 =60°
(20 %)
3)0=60"%0, chixORIfRALT

c0s240° +cos120°+a =0
La=1

(2 0H)
(4) (1) ~(3)DAER L Y|

a2+ = (x4 242+ 1) — 22
= (x7-+1)2—x2

= (x2+x+1)(x2—x+1)
=0



“1+V3i 1+V3i
X = ,
2 2

(2 04)
(5) (4) DAEREZERECPH LICBIRT 2 AT O XS 1cm s, R LRAIIHERT, %
7oA L v URRIEREP ORI B R RSSO 2R T, ko smEIIMHNICH AL vy
MTHINEETD>TDH B,

iy

A\
=

0.5

L7z CEZSTRT &
S = [Zx%] x[Zx?] =\/5

Thd, (20x5)



